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 The Solubility Product Worksheet
1. Write a solubility product constant equation for the dissolution of magnesium carbonate.
2. Write the solubility product constant equation for iron (III) hydroxide dissolved in water.

3. In a saturated solution of calcium phosphate at 25°C, the concentration of the calcium ions and phosphate ions are 4.53x10-7 mol/L and 3.02x10-7 mol/L, respectively.  Calculate the Ksp of calcium phosphate. (8.48x10-33)

4. Calculate the molar solubility of silver iodide at 25°C.  Its Ksp value at this temperature is 8.5x10-17. 

(9.2x10-9 mol/L)

5. Which has the greater solubility: mercury (I) chloride or lead (II) chloride?  Explain.

6. What is the relationship between Q and Ksp?

7. Will a precipitate form in an aqueous solution in which the concentration of copper (II) nitrate is 0.015 mol/L and the concentration of potassium iodide is 0.075 mol/L?  If so, identify the precipitate. (Q = 1.1x10-3)
8. A student prepares a solution containing 0.01 mol/L calcium nitrate and 0.025 mol/L sodium phosphate.  Will a precipitate form when the student makes this solution?  If so, identify the precipitate. (Q = 6.2x10-10)
9. A water treatment plant tests the water and determines that there are high levels of phosphate in the water.

a) What are two solutions that could be used to precipitate out the phosphate from the water?

b) Use Le Chatelier’s principle to explain how adding these solutions causes a decrease in the phosphate ion concentration.

